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I. 

 8 × 1 = 8 

1. A B  

 (A) ( A   B ) l   =  A l    B
l   

 (B) ( A   B ) l   =  A l    B
l   

 (C) ( A   B ) l   =  A l    B
l   

 (D) ( A   B ) l   =  A   B  

2. a  b ( G )  

 (A) G  =  
2

ba 
 (B) G  =  ab  

 (C) G  =  
2

ba 
 (D) G  =  ab 

3. 8 12 24  

 (A) 4 (B) 24 

 (C) 8 (D) 12 

4.  P ( x ) = 42 x  P ( 2 )  

 (A) 8 (B) 4 

 (C) 0 (D) 2 
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5. 02  cbxax   

 (A) acb 42   (B) acb 42   

 (C) acb 42   (D) acb 42   

6. AB P OPA

 

  

 (A) 60º (B) 0º 

 (C) 180º (D) 90º 

7. sin 30º  

 (A) 1 (B) 3  

 (C) 
2

1
 (D) 2  

8.  

 (A) 6,  8,  9 (B) 3,  4,  6 

 (C) 7,  8,  9 (D) 6,  8,  10 
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II.  6  1 = 6 

9. 52  nT
n

 10  

10.  
00

CP nn   

11.  

12. 

13. p ( x ) = 8654 23  xxx  

14. 0562  xx  

III.  

15. 50 42 

24 

 2 

16. 
6

1
,

4

1
,

2

1
 ,  .... 20  2 

17. 32    2 
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18. 

2 

19.  ( n + 3 ) ! = 20 ( n + 1 ) !  n  2 

20. 1  6 

 a)  

 b) 

2 

21.      2 

22. 

18
3

1

2

1
3   2 

23.  

      35723 23  xxxx  2 

 

 p ( x )  =  2x  – 2x – 15
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24. 4 8  2 

25. 50 

30º

2 

26.  XYZ P XY PQ  XZ XP = 4 

XY = 16 XZ = 24 XQ  2 

 

 

 ABCD AB || CD AB = 3 CD  AOB 

 COD  
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27. ( 2, 3 ) ( 4, 7 )  2 

28. P ( 2, – 3 ) Q ( 10, y ) 10 y 

2 

29. 20 7 

2 

30.  

   20 = 1   2 

 D   

 160  

 100 C 80 

E  100 60  

 40 B  60  

 A  
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IV.   

31.  3 

 ( C-I )  ( f ) 

1 — 5 4 

6 — 10 3 

11 — 15 2 

16 — 20 1 

 n = 10 

32. 

3 

33. 3 

  x ( x + 1 ) = 6x + 24 

 

 m n 01272  xx   

 a)  ( m + n ) mn  

 b) 
nm

11 
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34. ABC D BC BD = 
3

1
 BC 

22 79 ABAD   3 

 

  ABC ABC  = 90º,  BD  AC AB = c BC = a 

BD = p CA = b 
222

111

pca


 

35. 

A

A

cos1

cos1




  =  cosec A + cot A 3 

 

 

A

A

A

A

cos

sin1

sin1

cos 



 =  2 sec A 

36. 6 

 10 14 

 3 
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1·5 

7 2 

 

 

V.  

37. 4  8 24 6 10 

 44  4 

 

 4 24 8 384 10 

 

1.5

1.5

2
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38. 4 2 9

  4 

39. 

 4 

40. 2x  – x – 6 = 0 4
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